Q.P. Code - 56501

First Year M.A. Degree Examination, OCTOBER/NOVEMBER 2015
(Directorate of Distance Education)
Economics
(DPA 510) Paper I - MICRO ECONOMIC THEORY

Time : 3 Hours] [Max. Marks : 70/ 80

Instructions to Candidates :
e Peert Beesdrred :

1) Students who have attended 30 marks I-A scheme will have to answer for
total of 70 marks.

30 &osnY 20305 o*a’&?p’éai)@ai)qz 2000 IR DENGD 70 051y ZZNrf evzdz2seso.

2) Students who have attended 20 marks I-A scheme will have to answer for
total of 80 marks.
20 e&ozny 0305 o*a’&?p’ﬁai)@abq?; 2005 39 Pe L 80 eosy It evgdzeses).

3) Answer any FIVE questions from Section-A (For students under both 70 and
80 marks scheme). Each question carries 14 marks.
eTT-Dd & SBALIV Y@ 0R e ZIrerf evgdIO (70 OF) 80 ©o5/Y J0ER

TN I PeNSrT R a03D). 3 ZIrf 14 05710,

4) Q. No. 11 in Section-B is compulsory for the students under 80 marks.
80 wozrY c:—;’c’géai)@ai)qz 200 I.PEMD -2 avIY 11dab ZFaba)
s@ DN GUZ O3V,

SECTION - A/ %0 - &

Answer any FIVE of the following questions. All questions carry equal marks :
BINT adnZ)wense HBd BINRVI GuIDAD. HeR FFNRVI FST 0TI :

1. Define Economics and bring out its significance in the present day context.
VPEBIF BT, ASE 20 03 VDT DB 0B3PSO BT (VFEZR W) ;iossas@i O3 WT0DO.

2. Explain the role of significance of assumptions in economic analysis.
VBEBIR T IB R0 NPBNRY TZT [0 FBIT F003> IZ0D.

3. Discuss the relationship between theory and policy in economics.
VP05 B 20903 S0 AednY FFOAT F0W0PST), 3003 23286 20.

4. What is demand? Explain the law of demand and distinguish between demand and
quantity demanded.

W¥eR3 20nTemd? WeBTod AoDTOITY, [V Hone WeBT D03 WeBFiP0E FOIe dowH)iY
IYRDVY, 30D SVRD.

S. Explain the indifference curve analysis with suitable figures.
308 Sear33ndupodit Buoied, es JB R30I, S0

1 P.T.O.



Q.P. Code - 56501

6.

10.

11.

What is production? Explain the Laws of Returns to scale with appropriate figures.
BUTTTS D0BTETO? FO0INT FeazewsyNFR0DN T3F© AoLTorD), HZ00.

How do you explain costs in economics? Draw the different cost curves.
VB3 B B ieh H020TRY, Bert ASZVR0DD? G wiiod 523, SeaSnI™y 23820

Explain price and output determination under monopolistic competition with
diagrams.

TBes30233 nFup0dit 593303003 FpetdodhBobd w8 3033 HotE? (eV3FYNED Bert AporTmargs
DOTIY, 30D.

Discuss the Marginal Productivity Theory of Distribution.
DITE 0D 2€B3003 HPUTITTI 0D %m@oédﬁi TOO 23WED.

What is competition in Economics? Bring out the features of perfect competition.
VPR T ;-o;@aeés QOVTERO? HORPLE a’%@’peé\% mmwﬁw oy;smem% BPOTIBEHO.

SECTION - B/ %R - 9

Compulsory Question for 80 marks scheme only :
80 wozre Iw3od Do RENIT F@aodd T3 :

Answer any ONE of the following questions : 10
BINT 039 WOTTR Wwowd FF[E V303 :

What is Oligopoly? Distinguish between collusive and non-collusive oligopoly.
DT (3ouT) BBy F0TBER? wBOW 763 [ wBOW Te3 Fous (DET) BT IBIIT
QAT T, 392D

Or/ o=

What is equilibrium? Bring out the difference between partial and general equilibrium.
FZRCOT H0BTERO? 3083 B0 FOTE T A0ZPCOTNY BBEIIT FFHANFT), T0I> wB0WD.




Q.P. Code - 56502

First Year M.A. Degree Examination, OCTOBER/NOVEMBER 2015
(Directorate of Distance Education)
Economics

(DPA 520) Paper II - DEVELOPMENT ECONOMICS

Time : 3 Hours| [Max. Marks : 70/ 80

Instructions to Candidates :
e Peert Beesdrred :

1) Students who have attended 30 marks I-A scheme will have to answer for
total of 70 marks.

30 &osnY 20305 o*a’&?p’éai)@ai)qz 2000 IR DENGD 70 051y ZZNrf evzdz2seso.

2) Students who have attended 20 marks I-A scheme will have to answer for
total of 80 marks.

20 eosny 0365 o*a’&?p’éai)@ai)qz 200 IR DD 80 05Ny ZZNIrf vz T2

3) Answer any FIVE questions from Section-A (For students under both 70 and
80 marks scheme). Each question carries 14 marks.

eIoN- & BBADLY AP 9 ZILrf evFOI0 (70 F) 80 ©05TY S0ER
TN I PeNSrT R a03D). 3 ZIrf 14 05710,

4) Q. No. 11 in Section-B is compulsory for the students under 80 marks.
80 wozrY c:—;’c’géai)@ai)qz 200 I.PEMD -2 avIY 11dab ZFaba)
s@aVTN GUZ OV 0.

SECTION — A/ 92507 - &

Answer any FIVE of the following questions. All questions carry equal marks :
BINT 039 WBTR DB BRI GUZVD. 2 BINRVIT FBRPT WoTNW :

Bring out the chief characteristics of developing economics.
eazp:g)aoéeo Ll 7%3:5:3@033 TyB0D rbeoogeorﬁe}aﬁ% mdsg .

Discuss the contribution of David Ricardo to the theory of economic development.
3T eazpzfg)&o;%moosﬁ BeR® DTBACETIT FABOINYD, W32

Examine the critical minimum effort thesis.
TR, 0NN 2D 033D TOCF.
€3 [~} [~ =) o

Evaluate Harrods Growth Model.
DOIB TR WIS %m@osswdﬁ%eﬁm.

Bring out the salient features in the Big-Push Theory.
B 34D %m@oa"de‘?pos BB ROBNYE), BRTIA,.

1 P.T.O.
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6.

10.

11.

Lewis’ Model stresses that “Labour is an engine of Development” — Discuss.
“830 8RFR 0D 0d03, H0Bd SeDF* BT 2IY0VRIZH” — LBFA.

Discuss the role and importance of human capital in the development of developing
economics.

NI DO DoY) INTS F0BVRAVNY T3, B03) TYBWAINTTY WU

Critically examine Karl Marx’s contribution to the theory of development.
eazpag)ao,%moos% Rl :SJDEGNFdsd ﬁfazza’or’irieémd~ &emé@ﬁmh 308cD2.

Critically analyse the role of private foreign investment in the economic development
of developing economy.

VPZD  BROTIZTOZ ToRNY BT WPIAR IPed  WPIN  WoBTY  BPBTODL  TIZTT),
DRBIEZTON DB L.

Explain the pattern of Industrialisation in developing countries.
oI DBeo Be3nYA Fmdve SRBOLI) IO

SECTION - B/2%en - ?
Compulsory Question for 80 marks scheme only :

80 ©903N1Y IT30 AW DENIR FBIOI I3 :
® ) [~ I

Answer any ONE of the following questions : 1x10=10
BINT 0dZ)WwTR word I3t GuId3 :

Distinguish between economic growth and development.
eFF WIS o) shes eaz,ﬁ:i@qﬁc%o&)w FIYRID), 392

Or/ eog=e

Critically evaluate the working of Kaldor’s Model.
FOO0°T3T SPTO0LR), t3e5a3T:50N SO8eAA.




Q.P. Code - 56503

First Year M.A. Degree Examination, OCTOBER/NOVEMBER 2015

(Directorate of Distance Education)

Economics

(DPA 530) Paper III - QUANTITATIVE METHODS FOR ECONOMISTS

Time : 3 Hours| [Max. Marks : 70/ 80

Instructions to Candidates :
e Peert Beesdrred :

1)

2)

3)

4)

Students who have attended 30 marks I-A scheme will have to answer for
total of 70 marks.
30 &o5nY 20307 o*a’&?p’ﬁai)@abq?; 2005 39 PEeL 70 eosny It evgdzeseso.

Students who have attended 20 marks I-A scheme will have to answer for
total of 80 marks.
20 e&ozny 0305 o*a’&?p’ﬁai)@abq?; 2005 39 Pe L 80 eosy It evgdzeses).

Answer any FIVE questions from Section-A (For students under both 70 and
80 marks scheme). Each question carries 14 marks.
TN~ ¥ eBaLY abeyeroe o FINIf evgdd (70 X)) 80 05Ny S0

Tg3aD IT PN TVNITD). 53 ZErt 14 wos e

Q. No. 11 in Section-B is compulsory for the students under 80 marks.
80 &oznY a?’%’éai)@ai)cz 200 Y PN dgIon—2) avdav 11&Fab gFoba)

s@aVTN GUZ OV 0.

SECTION - A/ %0 - &

Answer any FIVE of the following questions. All questions carry equal marks :
BINT adnZ)wense HBd BINRVI GuIDAD. HeR FFNRVI FST 0TI :

1. If D=100-3P and S=50+2P are the demand and supply functions of a certain
commodity, calculate the equilibrium price and quantity. When a specific tax of Rs. 5
per unit is levied. Calculate the new equilibrium price and quantity.

20T RTBT WeBT o3 FPTYF Dowsned FmomeN D =100 -3P I3y S =50+2P shoan

F03RCOTE WS [FF) BB00[TY, FoBO HROWD. &8 JRAIT Boed S, ST 30k (specific) o),
DDA BRF F3B0ZRCOTT 2388 [03) FBIEDTY, FOBO &BOWD.

Solve the following set of equations by using Cramers rule.

59BO0°T QODBVDTY, BORO FYNT F0CFT DT, DB
xX+2y+z=4

3x+2y+3z=95

2x+4y+3z=3

1 P.T.O.
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3.

Find the maxima and minima of the following function.
BYNT Dowsd NOF3S =03 FIRINYTY, 0B &BOWD.

y=3x>+2x*-6x+8.

Pareto’s law of distribution of income is given as
DT3¢ 8T0D HITE ZAEFTTNITY, FENT0Z BN

10°

N=>—".
X7/4

(@) Find the number of people who have income above Rs. 10,000.
Be. 10,000 &5m200T Soee)td) 0OSZT 508303080, F0R@D &B0D.

(b) Number of people who have income between Rs. 10,000 and Rs. 10,00,000.
Sxe. 10,000 3033 Be. 10,00,000 &m20308 86O Q00EET 508303080, F0BO HBOD.

Explain the importance of Quantitative methods in Economic analysis.
B8R Z R0 FOBNTHIZF IPIINY HB0AI 0T, HZ02.

A monopolist facing demand for his commodity is g=78-3P and his total cost
function is C=gq°®-2g? +5g+20. Find the profit maximizing output, price and
maximum profit.

W) DIWBY BUTFTS 03T WeBB0d0 g =78 — 3P Iy we, I3, C = q® -2g% +5g +20 aB.
MoK, @973 3003 BLTTT 38 B0y NOF, VIIT), TR &LBOWD.

Fit a straight line trend for the following data and estimate the profit for the year
2018.

Year :

IRe - 2011 2012 2013 2014 2015

Profit (in 000’s) :

oo (000 fedy: 20 21 22 23 24

SoedS BedT AT, FTYTead DowsSE) T 303 20188 e33R, F0BO LBOLD.
Construct Regression line of y on x for the following data :
BINT TAT, AB503,0008 Tead y on xS, Tw

20 25 30 35 40

10 15 16 12 5

Calculate coefficient of variation for the following distribution.
BINT DR, F3,00T FBMITI0TI T, TR &BOWD.

Cl:

3IMe033 0-20 20-40 40-60 60-80 80-100
Frequency : 9 12 - 28 15
BI3E
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10.

11.

Construct Fishers Ideal Index Number for the data given below :
BINT TYRT, RO’V STBIE B39 05ITY, I, Ho3 -

Base Year Current Year
Commodity 3590 IRE TRB IRE
EELS Price Quantity Price Quantity
(AD] BySI0 (A T30

A 10 10 20 8

B 20 20 50 10

C 25 10 60

D 30 5 80

SECTION - B/ 2% -
Compulsory Question for 80 marks scheme only :

80 9031y B30 TN NYI F@W0 3,3 :
[~) o) @ I

Answer any ONE of the following questions :
BINT 0dZ)WwTR word I3t GuId3 :

Explain the difficulties in the construction of Index Numbers.
22508V, ABIVE £ BIBIZN WIS SROTTNYTY, D[

Or/ 5=

Calculate Median for the following data :
8 BINT D933, BOPTIB), FoBY &ROWD :

Cl:

SMmEo3a : 10-20 20-30 30-40 40-50 50-60
Frequency :

es=3E - 10 10 40 30 20

10

P.T.O.
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First Year M.A. Degree Examination, OCTOBER/NOVEMBER 2015
(Directorate of Distance Education)
Economics

(DPA 540) Paper IV - AGRICULTURAL ECONOMICS -1

Time : 3 Hours| [Max. Marks : 70/ 80

Instructions to Candidates :
e Peert Beesdrred :

1) Students who have attended 30 marks I-A scheme will have to answer for
total of 70 marks.

30 &osnY 20305 o*a’&?p’éai)@ai)qz 2000 IR DENGD 70 051y ZZNrf evzdz2seso.

2) Students who have attended 20 marks I-A scheme will have to answer for
total of 80 marks.

20 eosny 0365 o*a’&?p’éai)@ai)qz 200 IR DD 80 05Ny ZZNIrf vz T2

3) Answer any FIVE questions from Section-A (For students under both 70 and
80 marks scheme). Each question carries 14 marks.

TN~ ¥ eBaLY abeyeroe o FINIf evgdd (70 X)) 80 05Ny S0
w’%’éai) 03 Qengrt ear?;az),;‘bg’w"). g3 g drf 14 e05/1e0.
4) Q. No. 11 in Section-B is compulsory for the students under 80 marks.

80 o5y TFIAVBANY WIS YR dgn-2) avgab 11dab FFaba)
s@ DN GUZ O3V,

SECTION - A/ %0 - &

Answer any FIVE of the following questions. All questions carry equal marks :
BINT adnZ)wense OB BINRVI GuIDA. Hen IFNYIt FSRT BoTTIe :

1. Distinguish between traditional and modern agricultural system.
TOTWIONT F03Y BHOAT T masne: ©03TTTY, DI00.

2.  Write a note on production function of agriculture.
FA0D HUTITT WBVORITE 0D HBoeeS 33 ed WT0WD.

3. Explain the technological changes in Indian agriculture.
030 FA0HIT 39087 WHLIDHBRYTY, ZVD.

4.  Explain the role of agriculture in livelihood system. What are the recent trends in the
same?

naoeed Besdemaod S0 FA0D ToZTT), S08edA. TA 8ped3 Besdeemrodbnd FA0HY
TR WO BFD I 3N 0330F)R)?

S. Examine the determinants of prices of agricultural commodities.
BA ATTONY 238 APEORIT ©908RYR), BOEFD.
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6.

10.

11.

What is the role of market system in agricultural development in India? Explain.
Q03T TA 6@%@@0&)@“ S3200TS, IT30db T3 HeDO? IO

Discuss the demand and supply of agricultural credit in India.
PIU3TY T BT WIeRT S0 RRTBRIE), I3020.

Explain crop pattern and crop insurance in Indian agriculture.
03T FA03A 2I$03 APaT =03 3¢ D500dIY, HZDD.

Define agricultural economics and explain its scope.
T OFEIT ST, DYDY D03 VWT ATATIE), DS0RD.

Discuss the nexus between agricultural development and inclusive growth.
DT, wIhRN) S Wdaedt D3 3& wz,ﬁ:ﬁdaoaﬁwo&d B0WOBFIT), FOWTBRRD.

SECTION - B/ %R - 9

Compulsory Question for 80 marks scheme only :
80 wozre Iw3od Do RENIT F@aodd T3 :

Answer any ONE of the following questions : 1x10=10
BINT 0dZ)WwTR word I3t GuId3 :

Write a note on interdependence between Agriculture and Industry.
A BB Me0NY FTRT WZ©0owTod SB0ed 358 WBTaD.

Or/ eog=e

Write a note on land reforms in India.
370309 30 RPeTEodb Boed 83@?3 20000.
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